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M EXdE MHIA 23t
&2 EXNSHELRS &

N = O &
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- SHRI(EAH) - NEAY - BE=

20
B
2

EXizelD 181,799 146,703 35,096
Al 30,000
= 151,799
EX#HO AHIA L& 116,688 73,549 43,139
Al 30,000
2 86,688
EXBHEARY NF 45,093 37,299 7,7%
SN FA L AF 40,093 32,299 7,7%
101 Q12| 4,600 5,680 A 1,080
04 JIAH2ENSES 4,600 5,680 A 1,080
O HEZAIXIIF EA AT BX 4,600
- o=l 46,7899 « 19 %90 4,212
- 2oz 4,212,0009 %4.5/100 190
LT 4,212,0008%0.7/100 30
- ng28s 4,212,0002%1.3/100 55
- AYyeEE 4,212,0009! %254/ 100 107
- COXIQYBHEE  107,0002 *4.78/100 6
201 Ypre | 34,813 25,819 8,9%
01 A2 2H2lt| 34,813 25,819 8,994
O XJbEAL 228 40 100,000 *100H 1,000
O XJtRE NAl 2 Eo 5 3,780
- 22 HEX(A0) 47,0002 +20% 940
- 226 23 250,000 * 1074 2,500
- NIISH22E TYeA 17,0008 <2004 340
O HEBAIXD BB242 21,933
- MFXF AS
44,0002 +33,810Z X /38 . 98+50% 19,083
- S|AMEROt 25 19,0002 %150 X «50% 1,425
- OIQ/AIHAIDL 25 19,000 %1502 X *50% 1,425
O HEBAIXIF ZHENS MY 2
3002 %27,0005 8,100
203 YR 680 800 A120
03 AIBEXYREAY| 680 800 A120
O ZAXIILR a8 =& 800,0002 *85% 680
HeololeH 2 5,000 5,000 0
201 Ysre | 5,000 5,000 0
01 At 22l 5,000 5,000 0
O HL2La et S0 U LHHYIISAS
*2 5,000
Ml et pIfF L 5,085 12,400 AT7,315
NHSEoIA 2 2,490 8,200 A5,710
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SN

EXl2c|

Y HHYAH(EX22/)
chel: AR HH|(EXI&2|1t) AR
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod i =%
A2 HUI(EXI 2| 3,570 3,780 A210
Ol HHI(EXI22| ) 3,570 3,780 A210
203 HRF&Hl 3,570 3,780 A210
04 BASSHRFLHI 3,570 3,780 A210
O BMSEYRFAY 350, 0003 * 12 x85% 3,570
|[2ZHI(EX22| ) 61,541 69,374 27,833
JI2ZHl(EX&el) 61,541 69,374 A7,833
201 Let2d| 15,941 18,974 A 3,033
01 AtE22(H] 13,908 16,431 N2,523
O BA2Y 2Et=ZH] 40,0003 x19E «12& 9,120
O RAIIZYR48 SA|
7,000 *19H 341« 12& 4,788
02 ZE=234l 2,033 2,543 A510
O =SAJI, PC, &l ==2ldl  200,000& %52 1,000
O EXOISHE=UN ses HESRE &
SEE 232,300& 1% 233
O s&&dl, s8], g28s871 s #cldl
200,000 =4 CH 800
202 O4Hl 45,600 50,400 24,800
01 =LA b 45,600 50,400 24,800
O & WA 20,0003 19 102/« 12& 45,600




